Jlorapudmmnyeckume

HepaBeHCTBa




[1pn n3yvyeHmnn norapmPmMmnyeckmnx
doyHKUMN paccMaTpuBaroTCA
HepaBeHCTBa Buaa:



log_x > log_y
x>0; y>0

ecnn a=0, To x>y
ecnun O<a<1, To x<vy



[Mpumep Neo1

PewmnTtb HepaseHcTBO: log ,(x+2)<3
log ,(x+2)<log,3°
a=3; 3>0 => yHKUMSA BO3pacTaeT
X+2<2/
X+2<2/ X<25
{x+2>0 {x>-2
OTBeT: (-2;25)



[Tpumep Ne2

PewunTb HepaBeHCTBOZ|Ogo,5(2X+1)>-2
a=0,5; 0<0,5<1 => doyHKUMNA yObIBaAET
I0905(2x+1)>logoﬁ4

2x+1<4
2x+1<4 2x<3 x<1,5
2x+1>0 {2x>-1 {x>-0,5

OTBer: (-0,5;1,5)



PelunTte yCcTHO:

logx>1 OTBEThI.

log x>2
log x=0

Iogo,5x20

(2;)

(9;)

[1;)

(-0;1]



log,x=1
log x<2
log x<1/2

log,x<0

OTBeThbl.
(0;2]

(0;9)
(0;V2)

(0;1)



PelinTe HepaBeHCTBA:
log,(x-2)>1

a>1 = >oyHKUNSA BO3pacTaer
X-2>3
x-2>3 x>5
{x-2>0 {x>2
OTBET: (5;)

log,(x-3)>5
a>1 = >doyHKUNS BO3pacTaer
X-3>32
x-3>32 x>35
{ x-3>0 JLx>3
OTBET: (35;*)



lg(x-3)22

a>1 = >pyHKumnsa Bo3pacraet
x-32100
x-32100 x=103
{ x-3>0 { x>3
oTBeT: [103;«)

Ig(x-1)<0

a>1 = >doyHKUNS BO3pacTaer
x-1<1
x-1 <1 X <2
{ x-1>0 { x>1
otBeT: (1;2]



